Hi all, somehow, commenting is more interesting after a win.... :))) although probably more important even after a defeat. Thanks again to Thomas and Mihailo for their comments. 

#1: On the lead, I saw small 2 played by Al as attitude (discourage). So I switched... A key play it seems was Al not overtaking the lead (spade J) with the Ace. Our Jack denies agreement really helped this time. And yes we had alerted it as usual.
#4:  On the bidding: good bidding by Zoran/Mihailo. In the other room, after Al interferes with 2 clubs, what do you think of East jumping to 3spades to show a control(the singleton) and inviting to slam. Bidding 2 spades would show a reverse and a 5-4 shape. Therefore jumping to 3 spades must be control showing, slam invite confirming hearts for trumps. Do you agree? 
An alternative would be to jump to 4 clubs... 
#5:Mihailo: Do you all agree with my Dbl? Although I was xxxx and AKx in majors
The strength is ok but it guarantees 4-4 in the majors....
#6: On the bidding: Al with AKQxxx in hearts and a long but weak diamond suit and a spade void is imo too strong to use Texas. The way he bid was inviting to slam(transfer first and showing a minor).... the ever so important slam when playing a match. If I had had 4 diamonds, I bid  3S(artificial) to show it and bingo... After I show 3 cards in hearts with 3H , I guess Al did not see his hand strong enough to show his spade void and let me the decision to explore further or not. With a minimum 1NT, I had an easy decision.
#7:
Mihailo: I was tempted to bid New Minor Forcing 2D, but I thought
 that my hand is too flat and with two tens and honour doublet I
 decided to play in NT contract, not investigating the spade fit. I
 would like to hear your opinion.
Good question. I would probably have tried to determine if there was a 5-3 fit but I am not saying you were wrong to play in NT. I too would be interested to hear other opinions...
#8: Indeed very nice squeeze by Al. I simply am not able to visualize correctly the end position a squeeze requires. I guess I need to read more about squeezes....
Mihailo
#9: Opening 1D: I guess it is ok if you are a believer of the Zar theory :))) 9+4+10=6=29 so it meets the Zar requirement for opening....
At the other table, very nice defence and good double by our team mates.... question about the lead: after the bidding, isn't a lead from the spade doubleton QJ the usual lead??? What do you think?
Zoran, pls. let us know why you chose the club lead.
#10: question: defending against 4hearts, would you lead the spade ace? The opponents did it and got good results. I was afraid of being ruffed if leading a spade from AQxxxxx and promoting the King.... I did not expect partner to have the club king, but I saw the club lead as passive.... how wrong I was.
#12: sry partner about my terrible bidding - my rebid in our system is to jump to 3D, showing 5-5 and inviting to game....
At the other table should 5D be doubled? Mihailo's values were mostly in hearts which could be worthless in a diamond contract, so a double was risky imo. Zoran had some values but I would have passed too. It is so difficult to judge partner's overcall as the overcall range is huge. Partner may only have a nice suit for his overcall. But Mihailo's reasoning is good, although at the table should West take the risk? At matchpoints, sure, but in match???
Mihailo: Should West Dbl 5D? If East didn't rebid hearts, it is probable that
 he has only 5 of them, and with 2 hearts in hand West might conclude
 that there are 6 remaining, so there is a chance to take 1H and 1D at
 least. If East has AK in hearts or any fast entry to play the third
 heart, the contract is set. Besides, N-S can't safely escape to 5S
 with West holding QT92. True, South's bid looked as 6-6 in spades and
 diamonds, and the KC was placed in front of club bidder, and that
 might be the reason for Zoran to Pass without double. I would like to
 hear other thoughts on this.
